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CHEMISTRY

10.

11.

The IUPAC name of lactic acid is

(A) 2-hydroxyethanoic acid

(B) 2-hydroxypropanoic acid

(C) 3-hydroxybutanoic acid

(D) 2-hydroxybutanoic acid

The number of optical isomers of
HOOC - (CHOH), — COOH is

A2 ®3 © 4 DO
CH;" free radical contains C with
following hybridization :

(A) sp’ (B) sp
© sp3 (D) None of these
Electrolysis of CH;COOK  forms

following on anode :
(A) H, +CH,

(C) CHg+H,

(B) CH, +CO,
(D) C,Hg +CO,
This causes explosions in coal mines :
(A) H, +air (B) CO + air
© C2H6 + air (D) CH, + air

KMnO, + OH™
CH=CH product is
(A) CH;CHO (B) CH,OH.CH,OH
© |COO_ (D) ICHO
COO™ CHO

The ratio of CH2=CHCH:CH2 to

styrene in Buna-S is
(A) 1:1
©) 3:1

Esterification  is
formation of

(A) Decron (B) Nylon

(C) Cellulose (D) Wool

This is formed from a cyclic amide :

(A) Decron (B) Nylon

(C) Wool (D) PVC
Bitumen contains hydrocarbons with

C-atoms in the range of
(A) CZO - C30 (B) C30 - C40

(©) Cs=Cyp (D) C5-Cy4

(B) 2:1
(D) 1:2

involved in the

Williamson’s synthesis produces
(A) Alkane (B) Amide
(C) Ester (D) Ether
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Ag Powder
CHCl; ———— produces
Heat

(A) CH=CH
(C) CH,

The % of ethyl alcohol in the liquid
produced by fermentation of starch is
generally

(A) 5-10%
©) 75-90 %

Urea behaves as
(A) Monoacidic base (B) Diacidic base
(C) Neutral compound(D) Acid

Biuret is
(A) NH,CONHCOCH;

(B) NH,CONHNO,

(C) HNCO
(D) NH,CONHCONH,

(B) CH,=CH,
(D) CH,-CH,

(B) 90-100 %
(D) 40-50 %

Which of the following will give
methylamine upon reaction  with
acetamide ?
(A) PCls

(C)" Soda lime

(B) NaOH + Br,

(D) HotConc. H,SO,
Spent lye is
preparation of a
(A) Detergent (B) Soap
(C) Ketones (D) Esters

Its solution gives blue colour with I,

formed during the

solution :
(A) Glucose (B) Sucrose
(C) Starch (D) Insulin

How many geometrical isomers are there
for [Pt(Py)(NH;)BrCl] ?

A4 B0 © 2 D3
Which one is a peroxide ?

(A) KO, (B) BaO,
(©) MnO, (D) NO,

Which is the oxidation state generally
found in lanthanides ?

A4 ®2 ©5s5 D3
How many bridge 0 atoms are present in
P,H,,?

(A) 6 (B) 4 < 2 @D s
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10.

11.

TETEA I
e 3%t &1 [UPAC 919 &
(A) 2-eESETeHEE ot 12.
(B) 2-ETESIRAMIUAZH 3T
(C) 3-ERgERIgES o
(D) 2-EEgIARS T

HOOC - (CHOH), — COOH & Wi
THTEETEE B e §

A)2 @B 3 < 4 OO
CH," 7o 7ot # C W Tg HhoT &
(A) SP2 B) sp
(C) sp° (D) T ¥ i Tél
CH,COOK # fefg[dl 370 3 W THIS
W &
(A) H,+CH, (B) CH,+CO,
(C) C,H¢+H, (D) C,H,+CO,
HITA B G H fITRIE BT HROT &
(A) Hy+3g (B) CO +d91
(©) CHg+o] (D) CH, +9]
KMnO, + OH~

CH=CH T 3TE &
(A) CH,CHO (B) CH,OH.CH,0OH
© |COO_ (D) ICHO

COO™ CHO

S-S H CH,=CHCH=CH, %1 %=1 ¥
I &

A 1:1 B) 2:1

©) 3:1 (D) 1:2

g TRLEHIT GRT ST §

(A) SHE (B) A=l
(C) FeeaE (D) 3

Tg U ThT THES & T9a1 €

(A) SHHE (B) A=A
(C) 3 (D) PVC
foerm & Sufer eegibeAr 4 C-TE] 39
T HEd €

(A) CZO_C3O (B) C3O_C4O
(C) C16_CZO (D) C12_C16
faforarg= Geeiuor 3 el &

(A) T (B) UwHES
(6 X (D) o
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A
CHCI, ﬂ—> 1 IR &
am™
(A) CH=CH (B) CH,=CH,
(C) CH, (D) CH,;-CH,

QE % [Fvem R sH W g H
CH,CH,OH %t % 2t & amr=:

(A) 5-10% (B) 90— 100 %
(C) 75-90 % (D) 40-750 %
T T HTER T ST &Il &

(A) HFUESH &R

(B) erEuiafes® &R

(C) ST T

(D) =1

EIER(CA S

(A) NH,CONHCOCH,

(B) NH,CONHNO,

(C) HNCO
(D) NH,CONHCONH,

= 4 @ o ugenEs & 9 i
Y ARITTHIT < 2

(A)PPClg (B) NaOH + Br,
(C) HieTrH (D) T = H,S0,
JEFIII TATZ Gk ScATE o QR Sel & -
(A) TTHESTH (B) WA

(C) FreH (D) w=H

T foera L, faer & | e a1 &
T

(A) TR (B) HehIST

(C) w&H (D) A

[Pt(Py)(NH;)BrCl] & T i
T & 2

A)y4 B O © 2 D3
T Teh TS ¢ 2
(A) KO, (B) BaO,
(©) MnO, (D) NO,
TFOAEEl W 9WmRd: 9l WE dre
SATRETERTT e i 91 & 2
A)y4 B2 ©S5 D3
P,H,, ® foha | 0 W] Suferd & 2
A) 6 (B 4 <© 2 D5

(u]
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Which is produced by contact process ?

(A) H,S0,
©) S

(B) Steel
(D) NaOH

How many out of TiF62_, C0F63_,
Cu,Cl, and NiCl,*™ (Ti = 22, Co = 27,
Cu =29, Ni = 28) are colourless ?

A o0 B2 © 3 (DI

Which of the following 1is not
concentrated by Froth floatation process ?

(A) Argentite (B) Galena
(C) Copper pyrite (D) Bauxite
In which molecule all bonds are not
identical ?
(A) CIF,

(C) AlF,

(B) BF;
(D) NF;
Which compound behaves as electron
deficient ?
(A) B,Hg
(C) PH,4

(B) C,H,
(D) SiH,

‘Which one lacks metal carbon bond ?
(A) Al(OC2H5)3 (B) CZHSMgBr

(C) KI[P(C,H,Cly)] (D) Ni(CO),

This gas decolorizes Bromine water :
(A) SO, (B) HBr (C) HCI (D) H,S

Gypsum on heating above 473 K gives
(A) CaSO,2H,0 (B) CaSO,

1
(C) CaSO,7H,0 (D) SO;+CaO

Which one is a major impurity in pig
iron ?
(A) Si (B) O

< S @ C

Pewter contains

(A) Al (B) Ag (C) Pb (D) Au

Calomel is
(A) HgCl, (B) Hg,Cl,
(C) Hgl, (D) HgO

This element is sometime called quick
silver :

(A) Au B) Cu (©) Sn (D) Hg

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

Roasting of Cinnabar produces

(A) HgO (B) ZnO
(C©) Hg (D) HgS
Gypsum is

(A) CaSO,-2H,0

(B) (CaSO,), - H,0
(C) Ca0Cl,

(D) CaCl,-H,0
Formalin is a solution of

(A) HCHO (B)
(C) CH,OH (D)

HCOOH
CH,CHO

The reaction of sunflower oil with
NaOH can be called

(A) Cracking

(B) Saponification

(C) Polymerization

(D) Esterification

This is a thermoplastic :
(A) PVC (B)
(C) Melamine (D)

Bakelite
Protein

Which of the following does not contain
any-triple-bond ?
(A) N, (B) HCN

(C)"CH, (D) NH,

Which one of the following has a square
planar structure ?

(A) PCIy (B)  [Cu(NH,) 4]2+
(C) SiFg (D) CH,

Which one of the following is not a fuel
gas ?

(A) Water gas (B) Producer gas

(C) Laughing gas (D) Marsh gas

This is involved in rusting of Fe :
A) O, B) H, () N, (D) Cl,

The solute can be separated from
solution by

(A) Filtration (B)
(C) Decantation (D)

Evaporation
Sedimentation

Salt is obtained from sea water by

(A) Sublimation (B) Evaporation
(C) Crystallization (D) Distillation
CP-2014



23, T (o ) (el [T AT E?

(A) H,SO, (B) =9

) S (D) NaOH

2 3— . -
24. TlF6 , COF6 , Cu2Cl2 NiCl 4

(Ti =22,Co=27,Cu=29, Ni=28)H

fore T § 2

A0 B 2 (© 3 DI
25. T W B W AN wEA Ot gR wrsd

Tt fopam e 2
(A) IT2EE (B) et
(C) FMURREE (D) dedRS
26. T SO T T ST THTTH TR ¢ 2
(A) CIF, (B) BF,
(C) AlF; (D) NF,
27. S T AT Soidei i T i FIMAT & 2
(A) B,H, (B) C,H;
(C) PH; (D) SiH,

28. fopad T e S &l & 2
(A) AI(OC,Hg);  (B) C,H;MgBrn
(C) K[P(C,H,CL)] (D) Ni(CO),

29.  IE TG A ST ! TR HT el &
(A) SO, (B) HBr (C) HCI (D) H,S

30. FO9 473 K % 30 79 o34 W edl &
(A) CaSO,2H,0 (B) CaSO,

(©) CaSO4~%H20 (D) SO, +CaO
31. T SRA O e Sifueh 19y i | E 2
(A)Si B) O () S (D C

32. gXAE
(A) Al (B) Az (C) Pb (D) Au
33, FATAY
(A) HeCl, (B) Hg,Cl,
(C) Hgl, (D) HgO
34. Te o HHI-HH! foeren fee) e ¢
(A) Au (B) Cu
(€©) Sn (D) Hg
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45.

fFeaR & o A ST e

(A) HgO (B) ZnO
(C©) Hg (D) HgS
S e

(A) CaSO, -2H,0
(B) (CaSO,), H,0
(C) CaOCl,

(D) CaCl,-H,0

v o
SHIAA el [deidH %Z

(A) HCHO (B) HCOOH
(C) CH,0H (D) CH,CHO
TSI % et o 91 NaOH i atffsear
FHEAT & :

(A) e

(B) WG

(C) SEeTohIHIT

(D) TR

qe Tsh AATATE S &

(A) PVC (B) heEe

(C) Hetdi (D) ¥R

= 9 @ forem =0E Brey T& € 2

(A) N, (B) HCN

(©€) GH, (D) NH,

7 B T Tt i Tadet TqSThR
T?

(A) PCly (B)  [Cu(NH,),*
(©) SiFg (D) CH,

1 5 | B S T AR T2

(A) MU-RTE (B) WS 19
(C) EEMam @ (D) @i

e H S AT T B &

(A) O, (B) H,

©) N, (D) Cl,

foreta =l foetae & 3H% gRT g2k fohar ST
THAE

A) Fre=a (B)  SITOERIOT
(C) F=aroT (D) EERA
TS F U ¥ TS W FA F o e
fafr aoTE STt €

(A) SeaUaa (B)  STOERIOT

(C) et (D) e
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Industrial production of polythene is
done by polymerization of

(A) Methane

(B) Acetylene

(C) Ethylene

(D) Styrene

The following is used for making natural
rubber hard :

(A) Petrol (B) H,SO,
© P, D) S

This is responsible for green house effect
(A) N, B) O,

(©) O, (D) CO,

The nucleus of H-atom has
(A) only proton

(B) only neutron

(C) one proton + one neutron
(D) only electron

This has one C — C bond, one C = C
bond and one C = C bond

(A) CHy

(B) C,H,

(©) C,H,

(D) C,Hg

Which one of the following has linear

structure ?
(A) SO, B) CO,

(©) NO, (D) H,0

The reaction of P .t NaOH involves the

following for P :

(A) Oxidation

(B) Reduction

(C) Both oxidation and reduction
(D) Neutralization

As compared to a gas X, the diffusion
rate of CH, is 2 times. The molecular

weight of gas X is

(A) 64 B) 32

© 4 (D) 8

This reagent is used for testing NH, :
(A) Baeyer (B) Nessler
(C) Fenton (D) Mollisch

SS.

56.

57.

58.

59.

60.

61.

62.

63.

64.

If 5.8 g NaCl is dissolved in 90 g of
HZO, the mole fraction of NaCl is

(molecular weight of NaCl = 58.5)

(A) 0.1 (B) 0.01

(C) 0.2 (D) 0.02

Inkis a

(A) Sol B) Gel

(C) Foam (D) Emulsion

Sol of which of the following is
positively charged ?

(A) As,O4 (B)  Fe(OH),
(©) Au (D) Starch

Saliva contains

(A) Lipase (B) Trypsin
(C) Amylase (D) Insulin

Which one is not correct ?

(A) AH=AE - AV

(B) AH = AE + AV

(C) AE=Q-W

(D) W=PxAV

For which of the following heat of

neutralization will be 13.7 kcal ?
(A) HC/+ NH 4OH

(B) HNO, + KOH

(C) NaOH + CH,COOH

(D) H,SO, + NH,OH

In which of the following H,O, is an
oxidising agent ?

(A) 2KI+H,0,— 2KOH +1,

(B) Ag,0+H,0,—2Ag+H,0+0,
(©) PbO, +H,0,— PbO +H,0 + O,
(D) O3 +H,0,— 20, + H,0

This does not cause hardness of water :

(A) CaCl, (B) MgSO,
(C) Na,SO, D) MgCl,
10 volume H,0, is about
(A) 30% B) 3%
© 1% D) 10%
Which one is a true peroxide ?
(A) NO, (B) MnO,
(©) BaO, (D) SO,
CP-2014
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46. UGN 1 3MENMTeR  ScRd 39
TEARIHIUT FT T &
(A) T
(B) udHifeet
(C) ufoet
(D) wrEA
47. WIHAP TR B FS - & ol TTH
AT e ST €
(A) Tt (B) H,SO,
©) P, D) S
48. I% BRI e TE & foIU ST €
(A) N, B) O,
©) 0, (D) CO,
49. H-WuV] & AMIFH T
(A) HaeT Ui
(B) et g
(C) T WRH + T 2
(D) T oo™
50. THUHC - C a9, THC=C a9 AR TH
C=Cu9¢g:
(A) CH,
(B) C,H,
(C) C,H,
(D) C,H,
51. T 9 9 fohmenl 9= W@ & 2
(A) SO, (B) CO,
(©) NO, (D) H,0
52. P, +NaOH ! 31fsHan # P 1 98 &iel ¢ -
(A) ATFIIHIOT
(B) q=a
(C) T 3ATeREIHIOT 3R YT=ra
(D) SSTHIAEROT
53. UH 19 X % Qo § CH, % forewor &t 52
TN E | X H SUMR &
(A) 64 (B) 32
©) 4 (D) 8
54. = 3TveH NH, 6 TRIEor 3 Wi 2 & :
(A) SR (B) &R
(C) H=m (D) Hifersr
CP-2014

56.

57.

58.

59.

60.

61.

62.

63.

64.

I 5.8 UMW NaCl &t 90 UTH ST | EieAT 7T
dl NaCl &1 Hiet 79T (NaCl &l 3R =
58.5)%

(A) 0.1 (B) 0.01
© 0.2 (D) 0.02
Ee

(A) FreT (B) o

(C) w (D) U=
T O foRgeRt dieT 9T Bt € 2
(A) As)O, (B) Fe(OH),
(C) Au (D) wWH

TR H BT e

(A) @EUS (B) fewdi=
(C) wHEeS (D) T
AT T O TR ?

(A) AH=AE - AV
(B) AH = AE + AV

(C) AE=Q-W

(D) W=PxAV

= 9 ¥ fHue SSEHEROT S
13.7 kcal &1 ?

(A)THCI#NH,OH

(B) HNO, + KOH
(C) NaOH + CH,COOH
(D) H,SO, + NH,OH

1=t 5 & fohes H,0, ST € ?

(A) 2KI+H,0,— 2KOH +1,

(B) Ag,0+H,0,—2Ag+H,0+0,
(©) PbO, +H,0,—> PbO +H,0 + O,
(D) O0;+H,0,— 20, +H,0

g% gRT 511 ! HIRAT T8l &Il

(A) CaCl, (B) MgSO,
(C) Na,SO, (D) MgCl,

10 ST H,0,, T &

(A) 30% B) 3%

O 1% (D) 10%

7 9 9 9 91 o W § 2
(A) NO, (B) MnO,
(C) BaO, D) SO,
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65. Slaked lime is 75. Petrol is a mixture of hydrocarbons with
(A) CaCO, (B) CaO following number of C-atoms :
(C) Ca(OH), (D) Ca(C,0,) (A) C;-Cs B)  C5-C
C) C.-C D) C,-C
66. Which one decomposes on heating ? © € .8 o T
(A) MgCO, (B) Na,CO, 76. Phosgene is
(C) K,CO, (D) Rb,CO, (A) CH,NC (B) CCI,
67. Solder contains (© €oc, (D) C,H,NH,
(A) Sn (B) Al 77. Oxidation of this gives methyl ethyl
(C©) Cu D) Cd ketone :
. . ] (A) 2-Propanol (B) 1-Butanol
68. ;F[il;s contains CeO: (C) 2-Butanol (D)  1-Butyl alcohol
(B) Pyrex glass 78.  This does not react with Na :
(C) Crooks glass (A) C,H;OH
(D) Ordinary glass (B) CH,CHOHCH,
69. How many oxides of N are neutral ? (€©) CH;-0-CH;
(A) O B) 2 (D) CH,COOH
© 1 D) 4 79. Lucas reagent is
70. CuSO, solution with excess of KCN (A) Conc. HCI + anhydrous ZnCl,
gives (B) Conc. HCI + ZnCl,
(A) Cu(CN), (C) Conc. HNO, + anhydrous ZnCl,
(B) Cu(CN) (D) Conc. HNO3 +ZnCl,

© KICuEN),] 80. This compound has"one alcoholic and
(D) K;5[Cu(CN),] one-aldehydic functional group :
71.  Acetylene has (g) éldOIh dri
A) 56 bonds ) V- ———
(A) (C) Grignard reagent
EI(BJ; ;ks+;7t Eongs (D) Acetoacetate
G + 27 bonds

(D) 26 + 27 bond 81. Which is the strongest acid ?
onds

(A) HCOOH
72.  How many isomeric amines are possible (B) CH,COOH
for C;HN ? (C) CH,CH,COOH
(A) 2 B) 3 (D) CICH,COOH
© 4 @ 5 82. Paraaldehyde is
73. Which one can give either methane or (A) Vinager
ethane by a single step upon reaction (B) 40% HCHO
with different reagents ? (C) (CH,CHO),
(A) CH,I (B) C,H.l (D) CH,CHO
(©) CH;0H (D) GHOH 83. (CH,CO0),Ca + (HCOO),Ca mixture
74. This will give 2, 2-dibromopropane : upon heating gives
(A) CH=CH + 2HBr (A) CH,COCH,
(B) CH,C=CH + 2HBr (B) CH,CHO
(C) CH,CH =CH, + HBr (C) HCHO + CaCO,
(D) CH,-CH,-CH, =CH, + HBr (D) CH,CHO + CaCO,

o 10 CP-2014
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75.

65. TR GAE
(A) CaCO, (B) CaO
(C) Ca(OH), (D) Ca(C,0,)
66. 79 Qi T FA W foied & @ e 2
(A) MgCO, (B) Na,CO,
(C) K,CO, (D) Rb,CO,
67. Gl HEME
(A) Sn (B) Al
(C) Cu (D) Cd
68. TEHCeOBME:
(A) Tem
(B) UTEXHRT T
(C) P T
(D) YR T
69. N & fope siferaree 3T & 2
A) 0 B) 2
O 1 (D) 4
70. CuSO, foet@™ KCN %! aifsh HE % |t
e
(A) Cu(CN),
(B) Cu(CN)
(C) K,[Cu(CN),]
(D) K;[Cu(CN),]
71. UHlCARH &
(A) 5o
(B) 40 + In sy
(C) 30 +2nsy
(D) 26 +2n ¥y
72.  C,H,N ¥ fefet FrTereel uHiv v € 2
A) 2 B) 3
< 4 (D) 5
73. = 0 @ B 999 1 9 wH € | i
ATRHeRT o T ATSHAT T T Fehell € 2
(A) CH,I (B) C,H.I
(C) CH,OH (D) C,H,0H
74.  TE2, 2-STESIEHT I :
(A) CH=CH + 2HBr
(B) CH,C=CH +2HBr
(C) CH,CH=CH, + HBr
(D) CH,-CH,-CH, =CH, + HBr
CP-2014
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76.

77.

78.

79.

80.

81.

82.

83.

Ul T dE@m wt HeH U] arett

BTESIHTaHT T 0T &

(A) C,-C, (B) C,-C,
(©) C,-Cq (D) C,-C,
T G Fed & :

(A) CHNC (B) CCl,

(C) COCl, (D) C,H,NH,
THHT HATRAHLOT HTeT TTeT SIS SaT & -
(A) 2-UTOATeA (B) 1-geTet
(C) 2-=gme (D) 1-=feet Toshieet
g Na & Q1 TTishar T&l oheT :

(A) C,H.OH

(B) CH,CHOHCH,

(C) CH,-0-CH,

(D) CH,COOH

g A &

(A) | HCI + F57e1 ZnCl,

(B) ¥ HC! + ZnCl,

(C) | HNO, + et ZnCl,

(D) &= HNO, + ZnCl,

T AT § U Uoshlg AR T UfeeaEs
fspaTcT 9He &

(A) Teer

(B) HEARREST

(C) TrmTS it

(D) uiaemmaee

I G G YA 37 & 2

(A) HCOOH

(B) CH,COOH
(C) CH,CH,COOH
(D) CICH,COOH
NS &

(A) ToRe

(B) 40% HCHO
(C) (CH,CHO),

(D) CH,CHO
(CH,CO0),Ca + (HCOO),Ca fHgor 7
FH WA

(A) CH,COCH,

(B) CH,CHO

(C) HCHO + CaCO,

(D) CH,CHO + CaCO,
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The equilibrium constant for
N, + 20, == 2NO, at a fixed

temperature is 100. The equilibrium

1
constant for NO, == 7 Na + O at that

temperature is
(A) 10
(©) 0.1

(B) 1
(D) 1000

A 0.1 M solution of a weak monobasic
acid contains H' at a concentration of
1 x 10* mole/litre. The ionization
constant of the acid is about :

(A) 1077 B) 107°

© 107 (D) 10°

Which salt on dissolving in water will
give an acidic solution ?
(A) NaPO, (B) NaHSO,

(C) K [Fe(CN)] (D) KNO,

On dissolving 18 g solid in 100 g H,O at

20 °C, water vapour pressure decreases
from 17.53 mm to 17.22 mm. The mol.
wt. of solid is
(A) 18
< 27

(B) 183
(D) 274

The platinum catalyst is poisoned by
(A) Oxides of S (B) Oxides of N

(C) Oxides of As (D) NH; + 0,
The catalyst used in production of
CH;O0H from water gas is

(A) CuO + Cry0O5 +Zn0O

(B) Pt

(©) ALO,

(D) U,04

This is a colloid in which the dispersion
medium is solid

(A) Butter (B) Milk
(C) Fog (D) Ink
Lyophilic sols have

(A) High surface tension
(B) High viscosity

(C) Low stability

(D) No Solvation

12

92,

93.

9.

9s.

96.

97.

98.

99.

100.

The rate of physical adsorption increases
with

(A) decrease in temperature

(B) increase in temperature

(C) decrease in pressure

(D) decrease in surface area

The heats of formation of COz(g), HZO(I)
and CH4(g) are — 94.0, — 68.4 and —17.9

kcal mol_l. The heat of combustion of
CH4(g) in kcal mole_l is

(A) —212.9 (B) —327.2
(C) —136.8 (D) +136.8

Which one is correct ?
(A) AH=AE + RT An
(B) AE=AH + P AU
(C) AE=AH +RT An
(D) AH=AE -P AV

Which of the following compound can
be purified by sublimation ?

(A) Oxalic acid (B) Tartaric acid
(C) Glucose (D) Benzoic acid

A hydrocarbon has.75% C. How much
CO, in g will be obtained on complete

combustion of 0.8 g of hydrocarbon ?
(A) L8 (B) 2.2
(©) 32 (D) 4.0

Sodium Nitroprusside is
(A) Nay[Fe(CN)(]

(B) Na,[Fe(CN)sNO]
(C) Na,[Fe(CN)5(NH,)]
(D) Na,[Fe(CN)5(NO,)]

This is an isomer of Ethyl alcohol :
(A) Methyl alcohol

(B) Dimethyl ether

(C) Acetaldehyde

(D) Propyl alcohol

How many C-atoms are in isopropyl
propanoate ?
@A s B4 ©6

This is a tertiary alcohol :
(A) 3-methylbutan-2-ol
(B) butan-2-ol

(C) 2-methylpropan-2-ol
(D) pentan-2-ol

D) 7
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84. U [i¥e @9 W N, + 20, == 2NO,

#H T fERE 100 & | 39 a9 W
1 )

NO, == 5N, + O, ¥ W & &

(A) 10 B) 1

(© 0.1 (D) 1000

85. UF TG HHIETES 37 % 0.1 M faera= §
HY 3 9= 1 x 107 77 ofg efex & |
A T AT e AT ©
(A) 1077 (B) 107°
(€) 107 D) 10°

86. THE TTEIUT T STATT HieT ST7eAIT BT 2
(A) NajPO, (B) NaHSO,
(C) K,[Fe(CN);] (D) KNO;

87. 18 M 39 TSt 1 100 M H,O H Hier
W 20 °C T T 1 o197 T 17.53 mm 9
HEHY 17.22 mm & S0 € | 39 951 i
AT AL E
(A) 138 (B) 183
(C) 27 (D) 274

88. IE WiCTH IORS & (W oW 1 F1F T
£
(A) S& 3fFaEE (B) N 3iierEe
(C) As® 3fmEs (D) NH, +0,

89. o1 ¥ H CH,OH % 3ARA # T8 33RH
T | A S
(A) CuO + Cr,05 +ZnO
(B) Pt
(©) ALO,

(D) U,0s

90. IE Teh FHiEE & [STHeh TReIqur Areay 3
g
(A) AT (B) 3@

(C) e (D) =

91. SO O H e e
(A) =9 Y=< T
(B) 3=u favapiiaan
(C) =+ =&

(D) foreTrares Gl =Tt
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92,
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9.

95.
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99.

100.

(A) 9 T T
(B) 9 & g
(C) =@ &1 7
(D) U= &R B HAT

COygy H,0 3R CHy,) 1 Ewer
FIOT HEST — 94.0, — 68.4 3 —17.9

feret St AT | & | CH, o) 1 767 ST
fopelt A Ao LA &

(A) -212.9 (B) —327.2

(C©) -136.8 (D) +136.8
A d e w2

(A) AH = AE + RT An

(B) AE=AH + P AU

(C) AE=AH + RT An

(D) AH=AE-P AV

AU ot R = | 9 e i @
STe foma 1 gl & 2

(A) IRl 3d  (B) 2efie 3t
(C) T (D) S=TgeH 3T
T ERLHET T 75% HEF € | 0.8 AH
BTESIHEA % Ul G641 0 CO, o feber 7
T 8 2

(A) L8 (B) 2.2

(Cres"2 (D) 4.0

Hifegw AEIAES €

(A) Na,[Fe(CN),]
(B) Na,[Fe(CN)sNO]

(C) Na,[Fe(CN)s(NH,)]
(D) Na,[Fe(CN)5(NO,)]

T UfUeT Toshigiel ol H1eddl €
(A) BRI Toehieret

(B) SRR R

(C) uHRfeeeRe

(D) WfueT Teehieter

3TMEFIMITICT WoHTTE | fohe= C-TREM] € 2
A S B 4 © 6 (D)7
Tg U Jelash TehiEret §

(A) 3-8eT FeF-2-3T

(B) SA-2-3MA

(C) 2-TfRFeT Tu=-2-37et

(D) U=H-2-3TeA
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